uoising 158

sndjuBp JO WBWWNOD

12010 182104

04 Buojbusiuel

jeuoising

uoisIAIQg 3saJ404 BuojBuawe]
132140 152404 |euoisinig
(YyBuwis 13111

eH Jad je| 0£S'T "S¥= £'E/808'S = 3502 3un

808'S t0€'0 70£'0 r0E'0 Y0E0 Y0E0 v0€°0 €9€°0 290 61C'T 8L |ejol pueis
999°'T 880°0 880°0 880'0 880°0 880°0 880°0 $0T°0 9UT'0 6VE'D 6050 | 9T | %OV |0304 -gns
91v'0 7z0'0 7200 Zzo0 zzoo0 2e0'0 Z20'0 9z0'0 ¥0°0 £80°0 o | vo | %ot speaysanp| 9
9Tv'0 7200 zz0'0 zzo0 zzo'o zeo'o 7200 9z0'0 ¥v0'0 L80°0 210 | v0o | %ot 8upuaj| ¢
6020 1100 1100 1100 1100 1100 1100 €100 zzo0 000 ¥900 | 20 %S Suisies ssauatemy| p
91I¥'0 7z00 7200 Z20'0 zzo0 zz0'0 zz0'0 3200 00 £80°0 Lzro | v'o | %0t aimsioN B |105| €
60Z'0 1100 1100 1100 1100 1100 1100 ET0'0 Tz0'0 vv0°0 ¥900 | T0 %S Buiuueid oiIN| T
44 91Z'0 91Z'0 912’0 91Z'0 912'0 912’0 6520 vov'0 L8°0 £LTT [o3oL gns
91z'0 | L€ | 91Z0 |L€E 0s8's e A 8
91z'0 | L€ 91Z'0 | L€ 058'S e A L (1
91Z0 L'E 912’0 | L'E 0s8's ulen A sw (y
91z0 | L€ 91Z'0 | LE 0s8‘s BRI "IA S 8
91Z'0 | L€ 912’0 | L€ 0s8's W A v )
91Z'0 | LE 91Z0 | L't 0s8's U A LE (2 c
6520 | LE 6520 | L€ 000'L JuieN A L, Z (P
vov'0 | L€ vov'0 | LE 000'ZT R IA LT (2
080 | L€ L80 | L€ 00S'€2 uogeas) (q
ELTT L'E ELTT | L'E | OOVVE }iom soueApy (&
oo0'sz | vt €T ze| 12 | ot 61 81 it ot st vl ET 4 14 ot | 6 8 L 9 S t € z
"u4 Aydf uy Aydl wd | Aud|l cwid | Ayd] ud | Ayd| cuid | Ayd| culd | Ayd|  culg Ayd| ‘ud | Ayd| cud Auyd| wid | Ayd )
12301 0E-620T 62-820C 8T-£20C £2-920 9Z-520 SZT-r20T bZ-£202 €2-2202 zT-1702 12-0202 “._w ,“__.H jdom josway  |'ON IS

sjafie] |eideuly pue |e3SAUq

wg'z xwgz : dupeds
(£'€ X 009T) 0Z6S = Sue|d Jo ON
1apun ,uoneis-qns SuojBuawe] AX €€/ZET JO UO|IINIISUOD, JO) PUB| 15310} JO 'BH TER'T 4O UOISIBAIP 10} (YD)uonelsaioye Alojesuadwiod 104 s3adie} [elpueuly pue |ea1sAyd

eH L't

:3981e) |eaisAyd

Uo|s|AIg 359404 BuojBuawie] : UOISIAIQ

duojBuswe]:aduey
duoj8uawe] :a13ua)




